Gr2 Mod7 Topic B Quiz

1. Count the coins in each set and write the value.

ik ik

2. Solve each word problem and show your work.

a. Michael had 68 cents. He used 3 dimes, 2 nickels, and 6 pennies to buy a granola bar. How much
money does Michael now have?

b. Stephanie has 3 ten dollar bills, 2 five dollar bills, and 16 one dollar bills. How much money does she
have?

3. Umberto has 47 cents to buy a pencil. Write two coin combinations he could have paid with that
would equal 47 cents.




4. Show 80 cents two ways. Use the fewest possible coins on the right below.

Fewest coins:

5. Fill in the blank and show your work.

a. 68¢ + = 100¢ b. 100¢ - 45¢ =

6. Solve each word problem and show your work.

a. Audrey went shopping and had 4 twenty dollar bills, 3 five dollar bills, and 4 one dollar bills. She
spent 36 dollars on groceries. How much money did she have left?

b. Jerome bought gum for 55¢ and a pencil for 28¢. What was his change from $1?



